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General Instructions :

Read the following instructions carefully and follow them :
(1) This question paper contains 30 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iii) Section A — Questions no. 1 to 17 are Multiple Choice Type Questions. Each
question carries 1 mark.

(iv) Section B - Questions no. 18 and 19 are Source-based Questions. Each
question carries 3 marks.

(v)  Section C - Questions no. 20 to 23 are Short Answer Type Questions. Each
question carries 3 marks. Answer to these questions shall be written in
80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer Type Questions. Each

question carries 5 marks. Answer to these questions shall be written in
120 to 150 words.

(vii) Section E - Questions no. 29 and 30 are Map-based Questions. Each question
carries 5 marks.

(viit) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice given in the question paper. However, an internal
choice has been provided in a few questions in all sections other than Section A.

SECTION A

Questions no. 1 to 17 are Multiple Choice Type Questions. 17x1=17
1. Consumption of information-based services come under which one of the

following sectors ?

(A) Primary

(B)  Secondary

(C)  Tertiary

(D) Quaternary
2. Who among the following considered an increase in freedom of the people

as the main objective of human development ?
(A) Mahbub-ul-Haq

(B)  Ehrlich

(C)  Amartya Sen

(D) Meadows
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3. Wy AL hT AYET AN bl HEAr Sferek st § St |2 g Staenon feforfad o
Y forereh ST &1 TS ?
(A fifey eer
(B) Siecie
(C) oY "leY™
(D) aTeek ot ffte

4. e fparshal St frfaRad fasiyarstl i e afeT 3K et foshed w1 =2
I |
I 399 vifdes s ATl ST THERT I § |
II. I8 9aTsl ST e © |
1. wgd-df dard A fafre €
Iv.  fosrelt o faef, e, aehid, =TT 34 F© e & |
IEETR
(A)  FHaA I, IR TE |
(B) et I, III SR IV T & |
(C) Had I IIRIVELE|
(D) A IL, I AR IV E & |

5. hiTq-1 &1 hicta-11 ¥ fiem hifsre 37K w2t faereq &1 = s |

FicTq-1 FicTq-11

(ST =R % (ferera)

HTYR)
a.  YMfers GCeAT i. I e Sfea o Reifa war g |
b. @i EETEA i, IE @i gaTee sy fuffa war g |
c. A iii. 78 3TNt o % T sTTaR oM T & |
d.  diEHids FH iv. ke (F3Te) TR snteret o forentar gwek grT

fruff@ g2 |

IEETGE

(A) a-ii,b-iii,c—1i,d—-1iv
(B) a-ii,b-iii,c—iv,d-1i
(C) a-iii,b-ii,c—iv,d—1i

(D) a-iii,b-ii,c—1,d—-1iv
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3. “The number of people would increase faster than the food supply.” This
concept was given by which one of the following ?
(A)  Griffith Taylor
(B)  Brundtland
(C) Thomas Malthus
(D) Walter Burley Griffin
4, Read the following characteristics of tertiary activities carefully and
choose the correct option.
I. It is involved in processing of physical raw materials.
I1. It is an output of services.
III. Many of the services are highly specialised.
IV. Electrician, doctor, lawyer, driver are some of its examples.
Option :
(A)  Only I, IT and III are correct.
(B)  Only I, IIT and IV are correct.
(C)  Only I, II and IV are correct.
(D)  Only II, IIT and IV are correct.
5. Match Column-I with Column-II and choose the correct option.
Column-1 Column-I1
(Basis of International (Feature)
Trade)
a. Geological structure i. It determines the biotic life.
b. Mineral resources ii. It determines the mineral resource
base.
c. Climate iii. It provides the base for industrial
development.
d. Cultural factors iv. The development of crafts and skills is
determined by it.
Options :

(A)  a—ii,b—iii,c—i,d—iv
(B) a—ii,b—iii,c—iv,d—1i
(C) a—iii,b—ii,c—iv,d—1i
(D) a—iii,b—ii,c—i,d—iv
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STET 1 STEId o ATean U fohaT ST 8, 98T o U= ohl (e feiiad foreiaraat
T A Uiy 37 e foshed 1 == I |

I O 3B AfHhT hl Suetsdm

II. & A O Ul i SIS AT T 318! uhe

III. 3 hieret & quf 37T S1=a! U Wi fohT ST aet s
IV.  TITesh SeTIdT 31 hict §eX Haredi o glaemng

o

Folﬁh?q:
(A)  HIAL I | (B) Had L IIIRIVENZ|
(C) HadL IITIVET| (D) had I1, III AR IV E=T & |

7. Toerrasiia ot % faQ qw smwe i frefafed 0 @ s e e ?
(A)  HTA FH EH-YSH (B) #TA T Efumr
(C) Ut i TEHY (D) T T ST

8. WY Yo % HGAT Mol H TA-HYR Tee HRIHH T Gl HalleH [Hfoiad o 4
foreres g for-wife o 2

(A) TR e
(B) ST ST SR
(C)  HE Ja¥ UK
(D) &5 EHR

9. fova MR @A (WTO) @ weifera fmforfaa & & gt forerew st === hifsi |
(A) R e 37 2w U 3T (GATT) 3aeh! qelard! e oft
(B) 2016 §3d%h 149 eI I
(C) T 1984 H THHT GG ST

(D) 3! YEATeR AT | faq @
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Read the following characteristics of workforce carefully, where work is
performed through outsourcing and choose the correct option.

I. Availability of cheap and skilled workers

II. Good English language skill of involved workforce

III. Highly-skilled well-paid professionals

IV. Facility of customer support and call centre services

Options :

(A)  Only I, IT and IIT are correct. (B) Only I, IT and IV are correct.
(C)  Only I, III and IV are correct. (D) Only II, III and IV are correct.

7. Which one of the following is the disadvantage of ‘free trade’ for
developing countries ?

(A)  Goods exchanging (B) Goods dumping
(C)  Goods purchasing (D) Goods selling
8. The successful implementation of watershed management programme in

Jhabua district of Madhya Pradesh was funded by which one of the
following ?

(A) Non-Governmental Organisation
(B)  Jhabua District Administration
(C) Madhya Pradesh Government

(D) Central Government

9. Choose the correct option from the following related to World Trade

Organisation (WTO).
(A) The General Agreement on Tariffs and Trade (GATT) was its
predecessor

(B) 149 countries were its members as of 2016
(C) India became its member in 1984

(D) Its headquarters is located in New York
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10. o 3t s feg e & | 3 sifireper (A) 3T T (R) & | ST o Bt eTqdeh ufeu
3 T forepew &1 = ST |
37feher (A) : gt IR (slum settlements) § HehM, TTET qAT UISTA 3T(e
TN STARIHATHT T ST I ST € |
PR (R): WG R A el gt St 3 Sfie sht Torert #§ G oM o o
Te W T 1 31y fomam |

Folﬁh?q:

(A)  (A) IR (R) AT TR & 3 (R), (A) 3T Tel AT 7 |

(B) (A) 3R (R) 1 @&t &, Ak (R), (A) il Tt T 727 2 |
(C) (A TER, AfFT(R)Tad R |

(D) (A) T &, Afhd (R) W& 7 |

11. 9N H 9 shi qenafl #§ G i o foru freforfiad & @ -6t aisn searfaa g3 2

(A) TG FISHT (B) v =gy ArsMT
(C)  STR-gfequr ety ST (D) «g-adfia gg AsET
12. YA & Fefalad TR & 3% faw & AR W IRiHGy 8 T&iTaq & e J
FFfeerd T 3 Tt forshey a1 = hifrT |
I. [NICERY II. SR
1. T IV. SRER
IEET
(A) I IV, IILII (B) I, IV, II, III
(C) II,I,IV,III (D) II, 1, I1I, IV
13. wRa ¥ feforRad & & Fi9-91 U IR TR ?
(A) | (B) <Erg
(C) At (D) e
14. S GARTT I 1 T HIT ;
(TR) (33TETT)
(A) @ femiett
(B) WA FHigar
(C) uiEed AR
(D) eI U
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10. Two statements are given below. They are Assertion (A) and Reason (R).
Read both the statements carefully and choose the correct option.

Assertion (A) : Lack of basic necessities such as housing, health and
drinking water, etc. are found in slum settlements.

Reason (R): The Government of India launched the ‘Swachh Bharat
Mission’ to improve the quality of life in urban slums.

Options :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).

(C) (A)1is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

11. Which one of the following plan was introduced to improve the conditions
of roads in India ?

(A) Nagpur Plan (B) Golden Quadrilateral Plan
(C)  North-South Corridor Plan (D) Twenty-Year Road Plan

12. Arrange the following towns of India from the oldest to the newest on the
basis of their evolution and choose the correct option.

I Lucknow II. Varanasi
III.  Bhilai IV. Jamshedpur
Options :
A LIV, II1I B) LIV,IIIII
(C) IL LIV, III (b)) II, I II0, IV
13.  Which one of the following is an industrial town in India ?
(A) Salem (B) Chandigarh
(C)  Nainital (D) Shillong
14. Choose the correctly matched pair.
(Town,) (Example)
(A) Mining Singrauli
(B)  Garrison Kandla
(C) Transport Modinagar
(D) Administrative Pilani
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I A FENfhT bt HErEdT @ Ao sifer TR ¥ SRR T B | AT
TEEqt T 2, o we @ Sea o Fmfor e # afee a7 st wewl @ 6 aw R
SUHTUTT 3T qah1ohl oh! TETIAT & ScqTe 3T oo sptar 2 |

Wikt forelt TSt o wieepfaeh forehre o Tt 3t gereh il & | Jia Sehfel o i
T TEA &I T THZH % 16 &1 TeNfhT T ferehre ot umT |

15. T # gt o Qe i §0gH & g, FrfaRad § € HH-81 Afwrsa & ?
(A) IR 3R g
(B)  Wehld 3R WTa
(C) TrruaamE 3R gvaare
(D) EYIATE IR TaHT=EIdE

16. U fawa o w9 7 9iieT 1 97 G FHHTTiad § @ SIH-H1 2 ? 4ol 3Ugh forehey
T < I |
(A) YA AFIH R FHFIH
(B) Tl wie foRTed & s ok & |
(C) getuyfaa s s waH
(D) gl YgvT F L H T H

17. f=fafea § @ forey ama =6t s<ur sy denfieht i foenfa 0 § werar it 2 ged
I ferhed 3T =2 shifsg |
(A) AT H @IS
(B) sk i @ISl
(C)  uepfd o frrermt St SEar wwer
(D) 3+Ta HTeTiehl G Yeh(d o | SEdL €Ueh
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Read the passage carefully and answer the questions no. 15 to 17.
Relation Between Humans and their Physical Environment

You are already aware of the fact that the core concern of geography as a
discipline is to understand the earth as home of human beings and to study all
those elements, which have sustained them. Thus, emphasis is on study of
nature and human beings. You will realise that geography got subjected to
dualism and the wide-ranging debates started whether geography as a
discipline should be a law making/theorising (nomothetic) or descriptive
(idiographic).

Human beings interact with their physical environment with the help of
technology. It is not important what human beings produce and create but it is
extremely important ‘with the help of what tools and techniques do they
produce and create’.

Technology indicates the level of cultural development of society. Human
beings were able to develop technology after they developed better
understanding of natural laws.

15. To understand the earth surface in geography, which one of the following
is inseparable ?
(A)  Regional and Systematic
(B) Nature and Human
(C)  Determinism and Possibilism
(D)  Possibilism and Neo-determinism

16. The core concern of geography as a discipline is which one of the
following ? Choose the most appropriate option.
(A) Earth as home of human beings
(B) Earth as home of plant kingdom
(C) Earth as home of animal world
(D) Earth as home of landforms

17.  Which one of the following helped human beings to develop high order of
technology ? Choose the most appropriate option.
(A) Invention of fire
(B) Invention of wheel
(C)  Better understanding of natural laws
(D)  Better interaction with nature by advanced technology

64/6/1| # 11 P.T.O.
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SECTION B

Questions no. 18 and 19 are Source-based Questions. 2x3=6

18. Read the given passage carefully and answer the questions that
follow :

Human Development

Access to resources, health and education are the key areas in human
development. Suitable indicators have been developed to measure each of

these aspects.

Very often, people do not have the capability and freedom to make
even basic choices. This may be due to their inability to acquire
knowledge, their material poverty, social discrimination, inefficiency of
institutions and other reasons. This prevents them from leading healthy

lives, being able to get educated or to have the means to live a decent life.

Building people’s capabilities in the areas of health, education and
access to resources is therefore, important in enlarging their choices. If
people do not have capabilities in these areas, their choices also get

limited.

For example, an uneducated child cannot make the choice to be a
doctor because her choice has got limited by her lack of education.
Similarly, very often poor people cannot choose to take medical treatment

for disease because their choice is limited by their lack of resources.

(18.1) Name any two areas of human development. — +é =1

(18.2) Mention any two reasons which lead to lack of capability and

freedom to make even basic choices. é+é =]
(18.3) Explain the condition in which the choices of people are
restricted. 1
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50°

(19.1) "o # o T STemT @t 19 faRaw | 1

(19.2) Rumgamf i (A) 3 (B) % & i sifpa womt 3 T fafay | é%:z

(19.3) ATk SITHTT o TY | 7T o ATTh AT shl SAREAT ShIfNIT | 1
qe . FHEICTRaT T9 Fhacl greaTiera TRgterat & o7q S &1 19 & T W E |

Torger & Srermmt % il wexa Y sTEET ST | 3
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Study the given map carefully and answer the questions that follow :
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(19.1)

Name the waterway given in the map.
(19.2)

Name the ports marked (A) and (B) on the given map.
(19.3)

1
i + l =1
2 2
Explain the economic significance of the river as an inland
waterway.
Note : The following question is for the Visually Impaired Candidates only
in lieu of Question No. 19.
Explain the economic significance of waterways in the world.
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21. WS HUeh o AT AIGHTAT TS 6t e foraiwarat oht samen hifsr | 3
22. Tfafad UT &1 e ST HiFSTT ST 38 i< 19T 7Y ST T IR AT ;

3= IAR-FeE

(22.1) SHiToRehI WA TGTa oh STareeT 115 J[E SHETET ghg i AR o T

%I TIE FHITT | 1
(22.2) SHifeRehIa HehmoT frgia oht oTereT I 37T [11 7 3aT T8 HifST |
(22.3) SHifheha HshHoT fogia Y sraeem III & SAdfid I ared oo o

~

HTHTIST- 3ATTeh AT T AU I | 1
qIe . FEIREd S97 Fhae gIEaTierd GRierTieal o fo7q J97 68T 22 % €I WE |
STifepehler wshroT forgia s e fomwarstl i samen Shifs | 3
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SECTION C
Questions no. 20 to 23 are Short Answer Type Questions. 4x3=12
20. Suggest the measures to overcome the problem of water pollution in
India. 3
21. Explain the main features of the ‘Bharatmala Project’ for road
connectivity. 3
22, Study the following graph carefully and answer the questions that
follow :
High Fluctuating
Stage Stage Stage
1 1 il
F 1
: Expanding :
L] BR L]
35—. £ :
o .
| . 1
U ] "
= i ' Low Fluctuating
a L] 1
15— :
Hang!adesh: Peru Sri Lanka , Canada
Present |Rainforest. Kenya Japan
World tribes = E Usa
examples : Time )

Demographic Transition Theory
(22.1) Explain the reason of high net population increase in stage II of

demographic transition theory. 1
(22.2) Differentiate between stage I and III of demographic transition
theory. 1

(22.3) Describe the socio-economic conditions of countries under
stage III of demographic transition theory. 1

Note : The following question is for the Visually Impaired Candidates only
in lieu of Question No. 22.

Explain the main characteristics of demographic transition theory. 3
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23. (F) I GYE T SN 6 I8 TaxT hl T foRIeral i s SHifve | 3

TUT
(@)  HeE gl U SR g6 U8 o ! Hed foRiedrat i s Hifs | 3
LG LERo)
T3 G 24 9 28 AF-IT0T I E | 5x5=25
24. WA U H &bfch o Gr fohre! uier qeenal sht st hifSi | 5x1=5
25. (%) fowa d Quor iy o g faaredt i fazeivo Hifs | 5
Tt
@) forea o craret uzERer i g forRredre s foveyor i | 5
26. (F) “IUNT, ANTT HH ik, AT I STIhad Hd & | IS Aied 39 HIT T
AT FHITST | 5
rIT
(@) oo OIS o JATIR YT I o I 1eRL0T Shl SSTEL0I Higd TI8 hifY | 5
27. (F) WRAH A Hild AA o @ IeAT bl SATEAT HIST | 5
AT
@) ORa H a9t s Guevn i fafi= fafern i smen fifse | 5
28. (F) WIRA W SHUEAT Fg, 3T & =TTl s forgeryor Sifse | 5
rET

(@) Rd § SHEEAT % A foaur & foau swerht fobdl uier srent 1 fageyor

FHIf | 5x1=5
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23. (a) Explain the main characteristics of Kolkata sea port and its

hinterland. 3
OR
(b) Explain the main characteristics of Mumbai sea port and its
hinterland. 3
SECTION D
Questions no. 24 to 28 are Long Answer Type Questions. 5x5=25

24. Explain any five problems faced by the agricultural sector in India. 5x1=5

25. (a) Analyse the main features of plantation agriculture in the world. 5
OR
(b)  Analyse the main features of nomadic herding in the world. 5
26. (a) “Industries maximise profits by reducing costs.” Explain the
statement with examples. 5
OR
(b) Explain the classification of industries on the basis of raw
materials with examples. 5
27. (a) Explain the main objectives of ‘Jal Kranti Abhiyan’ in India. 5
OR
(b)  Explain the different methods of rainwater harvesting in India. 5
28. (a) Analyse the regional variation in population growth in India. 5
OR

(b) Analyse any five factors responsible for uneven population
distribution in India. 5x1=5
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~
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SECTION E

Questions no. 29 and 30 are Map-based Questions. 2x5=10

29. On the given political outline map of the world (on page 25), seven

geographical features have been marked as A, B, C, D, E, F and G.

Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. An area of extensive commercial grain farming

B. An area of subsistence gathering

C. A major sea port

D. A major airport

E. A major sea port

F. A major area of nomadic herding

G. An inland waterway

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 29.

Answer any five questions out of the following : 5x1=5
(29.1) Name an area of extensive commercial grain farming in
North America.
(29.2) Name a major area of subsistence gathering in Africa.
(29.3) Write the name of a major sea port in northern Europe.
(29.4) Name a major airport in the southern part of North America.
(29.5) Name a major sea port of South Africa.
(29.6) Name a major area of nomadic herding of northern Asia.
(29.7) Write the name of an inland waterway of Egypt.
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(30.1) HYTH 3cUTeT | YU T
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(30.3) FRWUS & AT 9T | Ty il Y @
(30.4) TSI ST Ueh A& HHE Ue
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g
(30.3) 3T AW T 9 [ARIT STET FRG@UE oh ITI 9T H qlel Sl GH I & |
(30.4) TIaT % 38 T T T FARGT SET Toh i@ T 0o STafeord ¢ |
(30.5) TSIIA o I T o1 A1 fARGY STaT Uk SFeiwdar oy o feora 2 |

(30.6) HITHIAT HHET UTH o ToITd b HH LA o FIT SHIT 71T Toh WHE O ohT 17
fefaw |

(30.7) < 39T | U TS hT A9 fARET |
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30. On the given political outline map of India (on page 27), locate and label
any five of the following seven geographical features with appropriate
symbols : 5x1=5

(30.1) The state leading in the production of cotton

(30.2) Iron ore mines located in southern part of Chhattisgarh
(30.3) Copper mines located in northern part of Jharkhand
(30.4) A major sea port of Goa

(30.5) An international airport in Gujarat

(30.6) A sea port built to relieve the pressure of Kolkata sea port

(30.7) The state leading in the production of tea

Note: The following questions are for Visually Impaired Candidates only
in lieu of Question No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state leading in the production of cotton.

(30.2) Name the place where iron ore mines are located in southern part
of Chhattisgarh.

(30.3) Name the place where copper mines are located in northern part
of Jharkhand.

(30.4) Write the name of the place where a major sea port is located in
Goa.

(30.5) Name the place where an international airport is located in

Gujarat.

(30.6) Write the name of a sea port built to relieve the pressure of

Kolkata sea port.
(30.7) Name the state leading in tea production.
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